Series RLC Circuits – Summary


[image: image1.emf]


The key to most of these problems is given the voltage, what is the current running through the circuit, the voltage across each circuit element, and the phase difference between the voltage source and the current. Recall measured (rms) values are related to peak values by 
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. Next, compute the following (when the circuit element is present):

Reactances (In Ohms):
Capacitive Reactance 
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Inductive Reactance 
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Impedance (In Ohms): 
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Current:
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Voltages Across Individual Circuit Elements:
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Phase Difference
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  => voltage leads current by 
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Resonant Frequency  
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